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If a man asks his friend to marry a certain woman for him, and the friend then takes her for
himself, she is married to the friend. So too, in a case where a man says to a woman “You are married
to me after 30 days”, and another man marries her in the interim, she is married to the second man.
This is a 793 PWITP, meaning if the second man was a 13, she can eat hmn.

If a man says to a woman “You are married to me from now and after 30 days”, and another
man marries her in the interim, she is 902 married to both of them. »4 illustrates the ramifications
of this 17, namely that she is 970X to both men until one of them gives her a V3, and she is MOR to
everyone else until both men give her a v3. The N3N proceeds to list another ramification, that if one
of these marriages is a “mixed” marriage between a 10> and YR, she cannot eat nMIn regardless.
Y illustrates that if it’s a HY87w’ Na to a jn5 (which should allow her to eat n1n17n), we have to be
worried that it is not a pwYT'P. If a 105 Na is marrying a Y987 (which should NOT allow her to eat
nman), we have to be concerned that it IS a pwyTp.
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The mwn told us that if the second man is w1pn the woman for himself, then
the pwYTP works. What’s the wy1'n here? Obviously, it should work! The case is where
the YW said to the woman that the nYwn sent me to marry you to him, and then
said: “You are married to ME”. She has to know that she is marrying the second man
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because otherwise, the Pwy1T’» wouldn’t be valid. The wy1'n we are learning from the
mwn is that the NYw’s statement of ' does NOT mean “to the one who sent me,”
but it’s the n*Yw talking on behalf of himself.
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The R brings a Xn1a that elaborates on the beginning of the niwn. The Xn»192a teaches
that the woman is married in a case where the 'YW marries her himself, but he acted in a deceiving
manner. Our Nwn also holds like this, because the 1YWY of 791 implies that he went niRNIa. The R0y,
going onto .01, contrasts our NIWN with the Niwn on .). Asks the X1, why does our niwn use the
example of a 9an, while the earlier N1wn (in discussing the 17 of IR DIPNA NWTP) uses the example
of a mYw? The question is fleshed out more by 9, in which he explains that the nbwn sent a n*Yw
for this specific purpose, while a 9an was asked to be w711 the woman if he happened to see her. The
NIy answers that both cases teach a wy'n. If we didn’t have our nawn (i.e., we only had the case of
the nYw), we would think that the n’5w acts with nixn3 because the Hya entrusted him to do the
mission, and he deceived him by marrying the woman himself. However, since the 9an was not sent
for this purpose, you might think that he’s not considered a *&®n3 for marrying the woman himself.
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Therefore, our Mwn brings the case of 9an to teach that even a 7an is considered to have acted
nxRnI2. On the flip side, had we only taught the earlier nawn (and not taught the case of the 7an),
you would think that a 9an cannot be wTpn a woman for him 9nRX DIpna because he didn’t think the
7an would be n»vn himself to find her elsewhere, so the mnYw is only in the place he specified.
However, as a n"5v, since he is expected to find her under any circumstances, the only reason the
nYwn mentioned the place was to tell him where she’d be expected to be found. Therefore, the n1wn
over there needed to teach that the mm»>w is nevertheless effective only where the 5ya specified
(because people might say disparaging things about him, as the X913 there says).

RT'0ON 1’27 was sent to be wTpn a woman for his son, and he ended up marrying her. How did
he do that if the Xn»12 says this is a mRNI 3?2 The family did not want to give her to the son, so
he decided to marry her. Nevertheless, 1729 should have at least told his son to avoid the deception!
He thought that if he were to tell his son, someone else would marry her in the interim.

In another story, NN 92 92 N9 gave money to 19 to buy land for him, and 27 bought the land
for himself. How did he do that if the ®n»42 says this is a NIRM7 aNIN? This was in an area of powerful
people who wouldn’t sell land to anybody, but they were willing to sell to 29 (and not to n"aa).
Nevertheless, 29 should have at least told n”aa4, to avoid the deception! He thought that if he were
to tell n”a14, someone else would buy the land in the interim.
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The case of R7°0n 1727 being a N for his son is talking about where the son
said his request and 227 remained silent because the :7n ®919) said that a person is not
q¥Inn enough to appoint his father as a nY>w. When he says his request in front of his
father, we can assume that he is okay with the father carrying out this request.
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573 27 was involved in buying a certain piece of land, and RaR >33 stepped in and bought it.
5773 29 complained to X7t »27, and X7’1 *27 relayed this complaint to Xna1 pny’ 23. Upon hearing
this, Xna1 pnx’ 29 suggested to X7 727 to wait until the next 210 DY for RaR »27 to come. When this
happened, Xna) pnx» 27 asked Rar »a7: “If an 1y is trying to acquire food, and someone steps in and
takes it, what’s the 1>72” To this, RaR »27 responded that he is a yw1. He then explained to pnx’ a9
N9 that he didn’t know that 9723 23 was trying to buy the land, otherwise he wouldn’t have stepped
in. XNA1 pnN¥’ 19 then suggested that Rax 27 sell the land to Y71 2. He refused to do so since this
was the first land he bought, and it’s a Y3 11°0 to sell one’s first purchase. However, he was willing to
give it to 977 19 as a gift. 57173 27 would not accept it, based on the pyoa of nn» Mmann RNw. Yet, 11
RaR refused to keep it because he took it wrongfully from 5723 29. Since nobody would take it, it
became known as “the land of the 1324”, i.e., it was left as 9pan for the D 1non.
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"1 explained that the case of n7N2 790NN "y was where the "1y was trying
to acquire the NN from apan. However, maon finds this explanation difficult,
because the n1wn on .» RYXN K22 says that if someone falls upon a lost object or
spreads his cloak over it, and someone else takes it from him, it belongs to the second
guy who physically took it. Similarly, the X913 there brings down that if someone was
collecting nRa and spread his cloak over it, we take it away from him. Why are these
cases not like the case of n99M2 797NN "Y? Rather, n™ explains that N99N2 91NN 1Y
is where the 7y is going after a profit either through being hired or acquiring an object
and another guy steps in (like in the case with Y717 17), and we call the second guy a
YW1 because he could have sought out profit elsewhere. However, the case in Xaa
RY*¥N is a case specifically discussing obtaining from qpan, and there is no 770K for
someone else to come in because the Y can just as easily profit from other 9pan
properties.

To suggest that the 770X associated with n99n2a 790NN 1Y does not apply to
apan seems difficult, as the R in :RX> RIN2 N2 says that one must distance
themselves from fish as far as fish swim (which the 8713 says is a n©19), even though
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the fish are 9pan! It seems that this case is also dealing with someone directly infringing
on another’s n©11a (which is more comparable to the case of n9IN2 797NN 1Y in our
RI1)), as the Ry there brings down that someone who sets up a mill in an alleyway
can prevent another member of the alleyway from doing the same, claiming he is
stealing his n0119. Another answer is offered by N Y® 17aR 9'8n 11°29, who suggests
that the case of distancing from fish is talking about DEAD fish, which refers to bait
used by fishermen to attract other fish. By someone setting up his net and then someone
else setting up his net right next to him, the second guy will be stealing o115 from the
first guy, so the first guy has the right to tell the second guy to go elsewhere.

PN 990 wanted to learn from our X1 that a 71591 cannot hire himself out
to a 2”nya who is already employing another 7n5n. This is because the second TnYn
can find another job without infringing on the first Tn5n. If the 2”nya informs the
second TnYn that he does not plan to keep the current Tn%n, the second 715N can
indeed offer his services to the 2”nya. However, a second 2”nya CAN hire an already
employed T15n, and the 2”nya cannot demand that he look for another one, because
the second 2”nya can claim that he thinks his son will learn best from this Tn5n.
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The mwn continues that if a man is W7pn a woman to take effect after 30 days, and another
man is WTpn her in the interim, she is married to the second man. Asks the X913, what happens if a
second man is not wTpn her? Both 17 and YRnw agree that she is married to the first man, even
though the money is no longer extant, and seemingly there is nothing for the }»vy1°p to be Yn on. Why
is thisz The money is not like the case of a loan (which doesn’t work for 1»wy1'p) nor the case of a
collateral (which would not work for pwyTp if it’s no longer extant). It’s not like collateral, because
collateral still belongs to the Yy2a, while the money by w11 is given to her to use. It’s not like a loan,
because a loan is given to be spent (before the }wy1°p is Yn), so there is nothing left at the pwYT'H Nyw.
By pwirp, the money was given to be used for WY (so even if she uses it before the 30 days, we
say it was Yn on the money she received from the onset).

If a second man didn’t come to marry her in the interim, can she renege on the first marriage?
13Ny 27 says she can because the 7127 (of her backing out) can be Yvan the 112>7 (of his offering the
PWVITP). However, wp2 wn says a 112>71 CANNOT be Yvan a 712r7. The following ®0wp is asked by
1AMy 27 to WpY W from the 7.0 MMIN Mwn: If a man appointed a N*Yw to take off MM, and he
wants to be Yvan the mn*Yw, he can do so, so long as the MYw did not already take off nnI1IN. We
clearly see that the 712>7 (of the mnYYw $021) is being Yvan a 71277 (of the MMYYwW »1n), which is
against wpY w»1! Rather, w'pY w1 understands that the case of WP is like a nwWyn of giving money
to the woman, and a 712>7 cannot be Yvan a nwyn. As »1 explains, v’pY W1 understands Ny
myn to be a nwyn, but it is not a bona fide nwyn because the mYn is taking place later. Therefore,
he refers to wYT'p (when originally stating his opinion) as a 1127.

To say a 712>7 cannot be Yvan a nwyn isn’t so straightforward either, as the .29 Y7 Mwn
brings a case where a man appoints a ’5w to give a V) to his wife, and he later meets up with the
n'5>w (or sends a second NYYW after him) and says the V3 is 50a. The transfer of the v3 to the hand of
the nYw s like the transfer of money for PwiT'p, yet we teach the v3 is Y0a! We can respond for w»
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v pY that until the V) reaches the woman’s hand, it doesn’t do anything, so the transfer of the v3 to
the hand of the 75w is viewed merely as a 71277.

WPY W now poses a RV to 1any »17 from the V.13 BHI MWYN: A *93 becomes NRMY Hapn
through nawnn alone, while you need to create a "W through a nwyn to make it no longer 5apn
nRMY. Turning to 2 TINY, we see WP W gets to the essential point of the NIwWN: A NWYN can reverse
a status brought about by a nwyn or a nawnn, while a Nawnn cannot reverse a status brought about
by a nwyn nor by a nawnn. It makes sense that a NawNN can’t reverse a NwWyn, but it should work to
reverse a Nawnn. From the fact that it can’t even reverse a Nawnn, it must be we hold 71277 'NR R
277 Yvam! According to 1any »27, a nawnn of NRMV is different in that it is compared to a nwyn.
This idea comes from X949 217 who says that even though the ,10a by 11"wan says 1’ *3 (which implies
active), we read it as 1Ny »3 (which is passive). The w17 is that the passivity of water going onto the
food to be 7*wan the food to be NRMV Yapn has to be like one who actively places water on food,
i.e., it has to be 1xna.
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Why do we not ask on jany »a7 earlier that if you can’t undo the n’9w taking
off nmIn, which can even be done nawnn3, then it must mean YVanY 27 MR RY
712>7? It must mean that we already knew that the nawnn of nman is more like a
nwyn, as we see from the »10a of 0aY awny (through the word awnn, which comes
from nawnn). In that case, even a bona fide nwyn (i.e., physically taking off nman
from the pile) cannot undo this "nwyn” of the n*5>w. However, when it comes to NRMY,
the nawnn doesn’t serve to be RnVnN the '3, but only to make it susceptible to
becoming Xnv. One can definitely be 5van this "nwyn” through a bona fide nwyn and
therefore can be Yvan it through a nawnn as well.
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721 27 taught this npYnn in a different context (from the .0y Mwn): If a woman appoints a
5w to accept PWITP for her, and then she accepts her own PW11p, she is married to whichever man
did pwrymp first. If she did not accept PwWrT’p on her own, can she renege on the appointment of the
mYw? According to jany »17, she can, because 7127 Yvam 27 'nXR. However, wpY w1 says she
can’t because we don’t say 912°7 H0any MN2T NN,

The following ®wp is asked by jany a7 to wpY W from the T MNYIN MWYN: If a man
appointed a n*Yw to take off nnyIN, and he wants to be Yvan the NNYYw, he can do so, so long as the
nYw did not already take off nnyIn. We clearly see that the 7127 (of the nIn 5w Y1v03) is being Hvan
a 27 (of the MnYHYw "), which is against WP Wt Rather, 17 explains that our case is where the
2”nya went ahead and did the nwyn of physically taking off the nm1In from the pile. w'p5 W then
asks 130 727 from the V.12 099 NIVYN: A '3 becomes RNV Hapn through nawnn alone, while you
need to create a "1 through a nwyn to make it no longer N8MY Yapn. The essential point of the
Mwn is that a "WYY can reverse a status brought about by a nwyn or a nawnn, while a hawnn cannot
reverse a status brought about by a nwyn nor by a nawnn. It makes sense that a Nawnn can’t reverse
a nwyn, but it should work to reverse a nawnn. From the fact that it can’t even reverse a nawvnn, it
must be we hold 71277 Y0am 7277 'NR RY! According to jany a9, a nawvnn of NRMY is different in
that it is compared to a nwyn. This idea comes from X959 27 who says that even though the »10a by
177°WIN says N’ »2 (which implies active), we read it as jny »3 (which is passive). The nwaT is that the
passivity of water going onto the food to be 79*wan the food to be NRMY Yapn has to be like one who
actively places water on food, i.e., it has to be %92,

1aNY 127 then asks w'pY w1 from the .2% 107 MWN: A man appoints a NYHYW to give a VI to
his wife, and he later meets up with the n'5>w (or sends a second n'5>w after him) and says the V3 is
5va. This is a clear refutation of w'p% w», and the na%n indeed follows jany’ ¥29 even in the case of
the mwn of the woman backing out of the w1’ within 30 days (where another man is not wTpn her
in the interim). You might think to not say like jam »27 in our case because myn nyn1 can be
considered a nwyn. Nevertheless, we say 7127 Y0am 7127 'nR. However, this leads to a n7’No in
statements the XI1) accepts as Xnavn. We say 130y 2275 RN n that 71227 Y0am 71227 'NR, but we
also have a 8naYn like 1913 29 that when you are Yvan the vi in the hands of a n"Yw, and you now
want to use that v, it works according to j1n1 29 (while nww 21 says you cannot use it), and we hold
like 1911 29! In reality, you were only Yvan the nbw, but the vJ itself is still good.
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The 8y asked about a case in which the woman appoints a n*Yw to accept
PwITp for her but ultimately cancels the mnYw without accepting pPwyTp herself.
moomn explains that she cancels the mnYw without notifying the n*5>w because if she
told the n5w that she didn’t want him to accept pwyT’p for her, it would be obvious
that she has the power to do so since she had the power to appoint him as a n"5w in
the first place.

1any »27 asked wpY w1 a R'Wp on the woman canceling the mn 5w from the
Mmwn in MmN about the NYYw who takes off nMIn. We had this same Rwp earlier
where the woman accepted wy7°» on her own, and mMavIN points out that we gave
two different answers. When it came up earlier in the X3, we said that myn nyni in
1PWITP was like a nwyn, but in this case, there was no myn n1ni. Therefore, we had
to re-define the case of nm N to be where the 2”hya did a hwyn.

We answered the ®*wp of the Xna%>n of 1M1 29 that you can re-use a v3 which
you were Y0an by clarifying that you were only Yvan the n’5w, but not the rxan of
the V). Therefore, if you said that you are being Svan the v, it would indeed be %105
to re-use. When the :2% 0% RIma quotes this discussion, it phrases this point as a
rhetorical question, saying “Is the v itself Yva?” This would seem to imply that the v
is not 01! Therefore, M2VIN understands that the X*Wp in our XN assumes that 29
111y holds you CAN be Svan a v3 (as we were 21 earlier), but in the Yy1'n we say
that you can’t because it is like myyn that are not m>vann; once the V) is written
properly, it is a XR¥an of a 9w V3 and can therefore always be used for divorce.

NWHY NYVTIPN
ANRY , 01 Y TY WY NVTIPN IR HRINYY ;02IYY WY NVTIPN 117 IR VY NVTIPN
INN NIV OVITP 1D RIVP RPY RTON 27 N7 JIORT MWITP 03 010 "WIT)H 'Ypa oy 'y
R9Y 1Y NN ROODR ATINY 27 ,71°Y RWVPY 1Y NN RWAIR TN 90V 27 7YY INR 209P9
SRINWI ;029 NVTIPN NIRI NVWTIPA 127 IR 191 DY DIVHY INRD PWIYN 77 RWP
;TIORT IVITP 70N W OWVITR 'PPA 'Y INRY 0V 7D TY ROR NVTIPN NIRI NVTIPN :INR
JRIN DRINT 7YY RVWYWA HRINYY RIN NITN IR IRIN NRIN PR 1YY RPADN 17Y

"9

JORTOVITPN 11139 19123700 7Y PINa HINY 10t 0 nn Mnw Y InRY 1pHva PR - oHH

INN INY Y ROWP ION DIV RNNDS TNY 1Y NN PYWIYN IR RYT MINNT - RYMIR N
1Y ROWPT

)

——
| —




PEYPD DI 7'P3
7'oEn ' DI ]”BP NE7 91956 09h

170X DNV YVITPH PADI NTMY DWHY INRY 19aR) - DYYH NVTIPN NPIRI NYVTIPN
JNPY RNYL WIGNTI TNRA VI RH2 DNNIYY

POITPN 19030 R PYRIN MDY RNY DY DVWHY TP ROR RP2ADA NPR - IR HRIND
07915 9N NV CVITH IRNNAN

2VIPN PVITP 1YY TIN2 22 NINR RY DR N1 IRIN IR WOV INRY RN - 71D RPOON

S ANRY Y HOVTPNN ROR PVWIYN MR IR INRPI YWIPD INRPT RN - NN AN OR
191N ORY YY1 RY W OWITP 19N PWRT IWIT'P IRIN NN IRT RPADA R 0YIYY 7990
2991 RY YR IWITR 199N NIV IWITP 1IN

T9IRY 91 12 NN RNV PION PVITH NN DY 7Y 93 799710 - N0 IRINT 179 RVIYA HRINYY
RRtab

1D :IMIR 27,0090 727,03 1R V3 - NN INRDY DPIN (RINT ;IRIN NINT RNNVH
M1 ,13290 1IN 27 IR IDIRT RIMN 1727 195N HRINY KRNI ,13299 NIYN 27 RN .0)
IRINT YRINVY 7YY NTIN RIIR - MRP NIPOT RON HAR PNRP IPINIDT DND RPNR
WT RN YR AN INRY VI PRT RIN DN RINR 717,227 NI9N HRINY IR IRY ;RN

RIMIN 299 1Y ITIN RIR <79 INRY POITP

"9

MYWI%Y MNR OR VI 772 DPNN IRIN NN OR AN INRDY IRD 7YY RPADN - VI 1R V)
INR RO AN INRY TO2 AT INRY DPANN 12 N NN NN OR DV INIRND PIANY V) RN
20731 90 TINT 1T NN INRY V3 PRT DIV

2N ARINT - V3 N1

WA IPNI2 PP AWPI DR APINIYT DIVN NN NN 1N IPIADY RIRT RIN - DNN
IR Y N2 29PN NAIPY INNT N 99 INRP NANIPHT RIN YAR PYWIVHIN 7’2 ITH 190N
2WIYNN 172 970 RY DWHY INRY

T2Y RY ITITOTNI DNA INRY VI PRI YTV DIRT 1IN RO RIN ARIN INRT RN - DN
ANRT VR

ROT N9TN NN RNDT RDOR DM INR AWTP RY DR DY 'Y INRY PWVITR WIT - RIN Yar
2 YNVNp oY DOYHY PIN2 19171 NINR YY NPT RNV PVIPD NWTPY NI

The nawn said that if one man was wTpn a woman Dy 'Y ANRY, and another man was WTpn
her in the interim, she is married to the second man (such that if it’s a Y87®’ na to a jn3, she can eat
nmn.) How long does this pwyTp to the second man last? 17 says that it lasts forever, while YR1nw
says that it only lasts until the 30th day, at which time the second wy1’p is uprooted, and the first one
takes effect. Asks RTon 27 on YRnW, how is the second PvY7’H uprooted? qoy’ 17 responds that 19
RTON has a XMW because he attributed the n»Ynn to the Xw» of the nwn, whereas pT1n’ 27 taught
it with the X9'0, and doesn’t have a problem. The 880 is where the first man is wTpn the woman
DY 'Y MRS Ywayn. In this case, 27 says it’s a DMYY PWVITR Pav, and YRINY says it’s a pao for 30
days, at which time the second w1 is uprooted and the first one takes effect. For 14, saying »wayn
and then 0y ' INRY is a pav if it’s a *RIN or a 17N, while YR MW understands it to be a *Ran.

This is the same N, 5NN as an earlier RN NN, If a man divorces his wife MRS DN
nnm, the 0N are paYon if it is a V3, and 27 holds it is a Vi. The nYnn is explained by "7 as
follows: For the oonon, it’s a pav if nn n ANRY is a 'NRIn on DN (and when he dies, the V) is YN
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retroactively from when he gave it), or it’s a n91n, and he means to say “this v will take effect after |
die”, which obviously wouldn’t work, because nn’m Inx% v PR, For »a4, he understands it to be a
»Ran. If that’s the case, the XIn) suggests that 27 lines up with the 1329, and YXInW with »23! We need
both 0NN because we might think that 29 would only hold like the 1323 for 11723 because he is
trying to distance himself from her. 1 elaborates that since it may be hard for him to do so, he may
be retracting what he previously said, so we’re left in a pav. However, by pwy1'p, he is trying to bring
her closer to him, and anything he says will be for this purpose, so maybe 13 would agree with YR1nw
that it’s a *Ran. On the flip side, if we said YR1nw is like »a7 that it’s a *Ran, that may only apply by
1PW117) because NN INRY V3 PR, so it wouldn’t possibly be a nrn. However, by 1»w1y1'p, we can have
1PWVITp after the time of 30 days is up, so maybe he is 171 to 27 that it might be a qan.




